


Mental & Oral Starter
D)  Whatis3 X 12?

2) Find 36 + 6

3) Six divided by six is equal to?

4) Find the sum of 3,482 and |,563




Mental & Oral Starter
What is 3 X 12? 36

Fnd36 ~6 6

Six divided by six is equal to?

Find the sum of 3482 and 1,563 2,045




WALT: Multiply a 3 digit number
by 1 digit number

S2S: | can

- Use my place value knowledge to partition
- Accurately use the grid method to multiply







Let’s learn how to multiply
a 3-digit number by a 1
digit number using the grid
method.




Independent Practice 1:
Use the grid method to solve the following questions:

a)118 x 3 = f) 637 x 8 =
b)4 x 218 = g) 9 x 435 =
c)5x215 = h) 3 x 629 =
d)349 x 6 = 1) 719 x5 =

e)324 x 7 = j) 524 x 4 =




